Georgia ENR CDE Team Activity 

Practice Example 1

Farmer Jones has a 135 acre farm.  He has 100 acres of fescue pasture for a small herd of cattle.  To diversify his operation and provide for additional farm income, farmer Jones wants to build two 40' x 500' poultry houses on the remaining 35 acres.  Before making the loan for the poultry houses, farmer Jones= banker wants him to develop a nutrient management plan that will account for the manure produced from growing birds in these houses.

Farmer Jones has determined from his talks with Fancy Feather Poultry Company that his contract will provide for an average placement of 25,000 chicks per house five times a year.  Farmer Jones will grow a 5.0 lb. broiler with an average mortality rate of 4%.  Farmer Jones has been told that a good estimate of annual manure production is one-half pound of manure for each pound of live weight produced.

Farmer Jones has also been provided an average nutrient analysis of broiler manure by Fancy Feather Poultry Company.  According to Fancy Feather Poultry Company the average nutrient analysis on their broiler manure is:

Nitrogen
=
3.3%

Phosphorus
=
2.5%

Potassium
=
2.0%

1.
The most accurate way to determine the nutrients available in poultry manure is:

a.
Estimating from tables

b.
Using data on feed intake

c.
Laboratory analysis of samples

d.
Talking to your neighbor

2.
The primary use of poultry manure is:

a.
Cattle feed

b.
As a fertilizer

c.
Has no practical value

d.
Filling sink holes

3.
On an annual basis how many birds will farmer Jones grow to market age in his two houses?

a.
250,000

b.
240,000

c.
200,000

d.
125,000

4.
On an annual basis, how many pounds of market weight will farmer Jones produce in his house annually?

a.
1,200,000

b.
1,250,000

c.
1,000,000

d.
625,000

5.
On an annual basis, how many tons of manure will be produced in farmer Jones houses?

a.
312.5

b.
300.00

c.
250.0

d.
156.25

6.
On an annual basis, how many pounds of manure nitrogen will be produced in farmer Jones houses?

a.
20,625

b.
16,500

c.
10,312

d.
19,800

7.
Farmer Jones has been told that he can apply a maximum of 330 pounds of nitrogen per acre per year to his fescue pasture.  How many acres will be needed to utilize the manure produced in farmer Jones houses?

a.
62.5

b.
60

c.
50

d.
31.25

8.
Farmer Jones is considering methods for storing the poultry manure on his farm.  The ideal system for temporary storage is:

a.
Floor storage

b.
Stack house

c.
High-rise storage

d.
Storage pond

9.
The primary reason for storing poultry manure on the farm:

a.
Maximize the value of the manure

b.
Keep it out of sight

c.
Control odor problems

d.
Control fly problems

10.
Farmer Jones wants to feed some of his poultry litter to his cattle.  Is this possible?

a.
Yes

b.
No, state law prohibits

c.
Yes, but state law requires a nutrient management plan

d. 
Yes, with a state feeding permit

11.
Farmer Jones is considering composting his mortality.  Composting is considered an aerobic process.  An aerobic process is one that:

a.
Requires natural sunlight

b.
Requires light controlled buildings

c.
Requires oxygen

d.
Requires carbon monoxide

12.
Which of the following is not a key ingredient for successful aerobic composters?

a.
Carbon source

b.
Moisture

c.
Bacteria

d.
Sodium Chloride

13.
One of the advantages of composting is:

a.
Reduces the volume

b.
Increases the volume

c.
Increases the odor

d.
Increases fly production

14.
Typical temperatures for proper operation of composters are between:

a.
170 - 200oF

b.
140 - 160oF

c.
100 - 120oF

d.
90   - 110oF

15.
Farmer Jones is also considering conversion of manure to biogas production.  This gas consists primarily of:

a.
Butane

b.
Methane

c.
Carbon dioxide

d.
Carbon monoxide

Key:

1.    c

2.    b

3.    b

4.    a

5.    b

6.    d

7.    b

8.    b

9.    a 

10.  a

11.  c

12.  d

13.  a

14.  b

15.  b

